Example 
Assuming a slightly compressible liquid, with the following properties: 
L = 2000 ft 
h = 20 ft  width = 300ft
k = 100 md 
ϕ = 15% 
μ = 2 cp 
p1 = 2000 psi 
p2 = 1990 psi 
[bookmark: _GoBack]Calculate the flow rate at both ends of the linear system. The liquid has an average compressibility of 21 × 10–5 psi–1 .
Solution
 Choosing the upstream pressure as the reference pressure gives:
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Choosing the downstream pressure, gives:
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The above calculations show that q1 and q2 are not largely different, which is due to the fact that the liquid is slightly incompressible and its volume is not a strong function of pressure.
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